Econ 11

Prof Woolf

Homework 1   Due Jan 24, 2005

Part I.
In chapter 1, answer the following problems and applications

4, 5, 7, 8, 9
4.  You win $100 and can spend it now or put it into the bank and it will get 5% interest.  The opportunity cost of spending the $100 now is not being able to spend $105 in one year.  Note that the opportunity cost is the cost of the next best alternative, which is the $105 you can spend in one year.  It is not $5.   
5.  You have invested $5 million in a product.  That is a sunk cost.  It is irrelevant to your decisionmaking.  You now find that because of competition in the marketplace, your expected sales are $3 million, which is less than what you thought they were going to be.  Your decision should be, should I spend an extra $1 million to finish the project if I can earn $3 million from the project?  The answer is yes.  The additional benefits exceed the additional costs of completion.  But you shouldn’t spend any more than $3 million on the project.  

7. a. Since you know you are going to get some retirement income from the Social Security system when you retire, you don’t need to save as much for your own retirement.  So Social Security reduces the incentive people have to save for their retirement.

b.  If you are retired and receiving SS benefits, those benefits are reduced if you work.  So there is an incentive not to work past age 65.  The reduction in SS benefits acts like a tax.  You can earn an extra $1,000 but you lose some SS benefits.  Here’s what the official Social Security website tells us:

How much can you earn and still get benefits?

If you work and are full retirement age (age 65 and 6 months in 2005) or older, you may keep all of your benefits, no matter how much you earn. If you are younger than age 65 and 6 months all year, there is a limit to how much you can earn and still receive full Social Security benefits. If you are younger than age 65 and 6 months in all of 2005, we must deduct $1 from your benefits for each $2 you earned above $12,000.

If you turn 65 and 4 months during 2005, we must deduct $1 from your benefits for each $3 you earned above $31,800 until the month you turn 65 and 6 months.

These examples show how the rules would affect you: 

Let us say that you begin receiving Social Security benefits at age 62 in January 2005 and your payment is $600 per month ($7,200 for the year). During the year, you work and earn $20,000 ($8,000 above the $12,000 limit). We would withhold $4,000 of your Social Security benefits ($1 for every $2 you earn over the limit), but you would still receive $3,200 in benefits. 

Or, let us say you were age 64 at the beginning of the year, but reach full retirement age (currently 65 and 6 months) in August 2005. You earned $33,000 in the seven months from January through July. During this period, we would withhold $400 ($1 for every $3 you earned above the $31,800 limit). You would still receive $3,800 of your Social Security benefits. And, starting in August (when you reach 65 and 6 months), you would begin receiving your full benefits, no matter how much you earn.
From (http://www.ssa.gov/pubs/10069.html#howmuch)
Note that for some, the penalty is pretty stiff:  Your benefits can be reduced by 50% for everything you earn above $12,000.

Part II

The Commanding Heights

Episode One, “The Battle of Ideas”
Watch chapters 1-19 (about 2 hours of viewing on your PC) at http://www.pbs.org/wgbh/commandingheights/hi/story/index.html
Briefly answer the following questions (2 or 3 sentences):

1.  What are the “commanding heights” of the world’s economies? Why should we care about who controls them?
The commanding heights are the important basic industries, like steel, railroads, cement, coal, mining, etc.  They are key to the production of other goods and are key to a modern economy.
2.  Who were the Bolsheviks?

The leaders of the Russian Revolution (1917), including Lenin and Stalin.  
3. Why were the Bolsheviks opposed to capitalism?
They thought that under capitalism, workers were exploited and wanted to end the exploitation of people under that system.  They promised a better world to people who were suffering, especially due to the effects of World War I.
4.  Who was John Maynard Keynes?

An influential British economist of the first half of the 20th century.
5. Why was Keynes opposed to the Treaty of Versailles?
He felt that the terms it imposed on defeated Germany after World War I were too onerous and were not good for its economy or political or social stability.
6.  Who were Lenin and Stalin?

Leaders of the Russian Revolution.  Lenin was the first head of the Russian government and when he died Stalin took over.  Stalin led the USSR from the mid 1920s until he died in the early 1950s.
7. What changes did Stalin make to the Soviet economy once assuming power after Lenin?
He imposed even tighter control over the economy by eliminating all private ownership of property and the means of production.  Under Stalin, the government controlled not just the commanding heights of the economy, but all of the economy.
8. How did Keynes describe the relationship between the failure of capitalism and the rise of fascism?

Keynes thought that the failure of capitalism, as witnessed by massive unemployment during the Great Depression (during the 1930s) could very easily lead people to choose to follow leaders who promised relief, even if those leaders were tyrants and curtailed individual freedoms.
9. What did Hayek argue in The Road to Serfdom?

Hayek argued that too much government planning would lead to more and more government conrol of the economy and that this would ultimately curtail individual freedoms.
10.  Who was Margaret Thatcher?  

The prime minister of England who was elected in 1979.
11.  Why was she important?

She started dismantling government control over many key sectors of the economy, including coal, and moved the British economy away from state-owned production in a variety of “commanding heights” sectors toward a more market oriented economy.  Her policies wreaked havoc on parts of economy, especially coal as 180,000 coal miners struck for a year.  But they ultimately led to an invigorated and healthy British economy.
